Correctional Test 1. Econ.Anal 14.Dec. NEPTUN: Name:

3
B. Compute the square of the Eucledian length of {1,1,1,0}7 !

-1
4 0
C. Compute ( 1 92 ) .

1.A.ComputeC’=(3 1)(1).

2. A. Let f(z) =1 — 3z. Compute %{M ! What is the limit of this fraction if Az, =1/n 7
What is f/(5) 7

B. Study the monotonicity and the limit of the following sequences!
a) =1 b) 2z,

5n+67 5

3.A. Compute the limit of the following sequence! a,, = (1 + 3%)37177 (%)

B. Let ¢(x) = =32 + 2, 9 = 2, Tp01 = ¢(z,). What are ¢~ and ¢™(xg) = z,, ?
1. Compute ¢~ !
2. Find the fixed point z; of ¢ !

3. Compute z,, !

4. A.Let171:<_22>,v_2:(§>,(§>:ow_1+ﬁv_2. Compute(g)!

B. Let T be a 2 x 2 matrix formed by the transition probabilities of a two state (labeled by 1 and 2)

stochastic system, where
T(]_ — 1) =T = 0, T(Q — ].) =T5 = 1, T(l — 2) =T, = 02, T(2 — 2) =T5 =0.8.

1. Find an eigenvector v; corresponding to the eigenvalue Ay = 1 ! (This is the equilibrium state.)

2. Find the eigenvalue Ay of T' corresponding to the eigenvector vy = ( _22 ) !

3. Calculate o and 3 in < (1) ) = vy + [y !

4. Calculate T'(avy + Bua), T?(avy + Bi2), ete.



